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ISO Class
ISO 14644-1:1999
Class
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1SO 0.1pm 0.2um 0.3um 0.5um 1.0pm 50pum
ms ms ms ms ms ms
1 10 2
2 100 24 10 4
3 1000 237 102 35 8
4 10000 2370 1020 352 83
5 100000 23700 10200 3520 832 29
6 1000000 | 237000 102000 35200 8320 293
7 352000 83200 2930
8 3520000 832000 29300
9 35200000 | 8320000 293000
0.3 um
c AC,
1 2 3 4 5 6
A 750 560 655 730 674
B 1575 1250 750 950 1100 1300 1154
C 1300 850 980 1125 | 1350 975 1097
D 1150 775 450 825 845 1000 841
E 825 855 730 940 695 925 828
F 1700 1585 1135 900 1725 1210 1376
Particle size In pm
.3 | ] 1 &0




1
oPC M= (AC, + AC, +AC,+ AC,+ ACe+ AC,) /L
995 = (674 + 1154 + 1097 + 841 + 828 + 1376) / 6

Count Mode
2
Fluke 983
80 = |ﬂf[AC1—M:|2 + o+ (B2 S L-1)
3 3
cm®  ft
116 = (% [F74-595)2 +{1154-995)2 + (108T-995)2 + | 541 -998)2 + 82 5-995)2 +{13T6-995)2) / |i
SE= 5D/ [4T)
Zero Count 4736 = 116 / (48)
UCL
15 95% ucL
# 1 2 3 4 5 6 7 8 o+
0.3 um

95% UCL 631 | 292 | 235 | 213 | 202 | 194 |19 | 186 | NA
UCL = +(UCL  x )

1,087 = 995 + (1.94x 47.36)
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